EARAROBREBRT —5 XN—ZXBISH—F

202438128 (X)) 18EE13H

R FEEEA AR 2 5 455

C1 YSR—i

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 100 w8

[AE%] 1% :900,000H" ~ 27%&:315,000MW  37%&:180,000 § .~ 43 :135,000H . 57&:90,000 M

BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o “— FEEA : -1-1- - THER (S50)
1l8ls ST TS 4t 5 %) 1.(2_9).1 1-1-1-1 37.8 1 (4_668) s =
R:F4RAIU—rFvy b B:ZAA—KUUYT IRRBUS
My > 7 | MEkE 1:30.0 3-3-3-2 |38.3| - 2 | 499 |FAOA (BAD)
7 2| AT LT 56.0 ) © EHEH
RiAxe+y B:RU—-LIVY-X =% 1E3h
=% \— hEfEt :30. -2-2- . - #EE (=50)
3177 |Y314T3v0 I /i 1(3‘89 N ° (3:333) FFRES
R:ALYITSyvIel B:FIHFryIaA thith  ER
os FEBK : -5-5- - JNIHEF (&)
4 6 O—Ry+<—JU 4 5 %0 1(731115) 6-5-5-4 | 38.9 3 (4_727) INES
KR:aAN/VvF— 8BNS/ T7F=)b BREMHTY RS YT - T7—L
PEIEES :31. -4-4- . - AIRFEE (&)
5101 Fow2u0OvT # 5 NS 1(321)4 4-4-4-5 | 39.5 4 (51311) it =
R T709— B:ISVIROYIY TH 0B
b~ 4 10 LLIEHER 1:32.3 5-6-6-7 | 39.6 = 7 497 | REKX (&)
6l5|5|7I7UbE 56.0 ) -3) @ I P NG
R:IvITIRTy & B:TUART7ZU— =Y T7—LI
55 5y 5 | N 1:32.4 7-7-7-6 | 39.7| - 5 | 508 | SAAKREE (B
7 4 IA(>Ja—Ya " 56.0 (3/4) (+6) IEJEEE'E;EB
RiARSRZ—F B:I—-YyraAvIr— RERIS
N S AR - - - - - - s (&
Y 3| VAT NUTT IR 5 Q;l%.om (BGE) =) ?mgg .
RinZ—ka—R B:I1INIFPIDTAIVRF vy~ [=lEe]
@ 1—F—&BIEL
1T=zr= 8,7,2,1,5,6,4
20— — 8,7,2,1,6,5,4
3J0—7F— |[8.,7,2,1,6,5.4
43—F— 8,2,7,6,1,4,5
o ILRE
B B 8 120 JA R 2-8 140MH B E 2-8 240M4 3EE 2-7-8 1,650M
B B 8 1301 7-8 470M ==} 8-2 240 3&EE 8-2-7 3,060
2 1904 2-7 1,050H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




